wee WIEC 2017 Online Exam Review

cbac

LWIJEC GCE A Level Sociology Unit 4 1200U40-1

All Candidates' performance across questions

Question Title Mean SD Max Mark FF Attempt %

la 1590 4.8 2.8 10 47.9 97.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	WJEC 2017 Online Exam Review
	WJEC GCE A Level Sociology Unit 4 1200U40-1
	Item Level Data
	Facility factor graph
	Question 1
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 2
	Mark scheme
	Example 1
	Example 1 marked


	Question 3
	Mark scheme
	Example 1
	Example 1 marked






Write the two digit question number inside
the boxes next to the first line of your answer

Answer Sk

Ysgrifennwch rif dau ddigid y cwestiwn yn y : b(ljank

blychau gyferbyn a llinell gyntaf eich ateb Ateb yan avgg
1 0

A oson uh haddor arot _hud it
Moy o) clageol 1o allo@t. an _ethnogra Pl
a é%%{ Ou W (\MJ?D o Oty
— TN O CLM mmfa Condu0 ke
Oy U oud W U VoolL B0 00U
Wt oroPUthot OGO PALL. QpPYO Ol
o e AM/UA AR\ o A’wm)eu oM
ouw U Beangy 0omes #ho. SaK %n[ﬁuo
Joreo_, Gt%nues o e uwﬂ/@mwno
A mencler and Winop st Odides bia
Yesbuchor 1o, Qe raliol eLeuCh
WL 1t 4 U S oo houe . il
fnahar reooed v dsonuee ot (o
A0 Genorinsodsto . “Te repeauThos coaung
Uerneus o 0o o@tm
[VL/)(/ DQWG,()M ﬂomscp%;ifw/ V»m, m/\cwuﬁ

HJ/\ Ueaa aﬁt@?lx\oa/ o&pﬁé\a
aorks e houoA o resouthol e houe

1o uhuy AU Oucheaed
oWerentiy Alan_ taon &y 703 nn\m 0Nn_

P Aot Ao ezsaon Lol wéliee? b nare

he/,@fﬁiuw@ (or Ohof Cangs  OCrTg L

_@,boum,%}@g‘ ose e Doo§on otD &AAQM
W OO /}Vﬁn‘;ﬁvﬁ/ ~Thu LD MO0 d 4T
9@)11/%@@/6\0,

: i





Write the two digit question number inside

the boxes next to the first line of your answer Answer blank
Ysgrifennweh rif dau ddigid y cwestiwn yn y
blychau gyferbyn a llinell gyntaf eich ateb Ateb yn wag

11b

Leave

Gadewch

OLD a (Qm\x@\p

W o ook dladtoe o

, lAMO AV - Lhe res
of B w MO

1 Hoge | uu/uT /;’qumhmlw FOM |

<
.

el Songo 120 S

MQJ.(L cu\()k ﬁwcuw @@g

caQ POMICpants o Thaihen

_Mtsv_t@ ANQ e pesertUine hesd (0 IMAY oueo

L ren) cunerse. . /MA’,A wouuot oim%/uce,

e

B

O

’I/o u\mxc +thot 0L Mxp@ﬂi’_w -

,Umjﬁw @memx u}/\a/vci %

: I






Write the two digit question number inside

the boxes next to the first line of your answer Answer
Ysgrifennweh rif dau ddligid y cwestiwn yn y
blychau gyferbyn & llinell gyntaf eich ateb Ateb

LWOCUIMOL 40 ueell Savweldnest
_MMM NO @WWU:D u\b\wm\p/\
Lol & aurssaib\e . <The fornt wlll Clpe |
clowy hat 2 Ay wond o ooue at any
CON_OLRISO _Thut may e 1oy
g e o toke pae l
CDL_(LMM ha uw &g Mo Logl

\
-é%&gﬁm_@ Y Anmu‘o' U
&,m*
J mm

0 LMM@MM_
s W&OAQ&/L LSUL. wu}%w maw

V) *dmt LE MO 488 rcuune. UIrna s er
Do S U ludout. o get Sawe Glhwsr .
_@@miﬁb. | ‘Vl}ﬁﬁ% Fhud wawo |
_MMLM\QM f\

MOUCO A MOt v~ Tuve VUL 00 (L sl
D ppen. \Mlu ol agle. Kol o s
So e W g dodel R oot LLM_CL_‘/j i
Q0 hWudl & oo 18 mfr@pamu

QUCL mmi OLGEA ﬁhe o M w;\omu/m
Pl A LA,

ﬂj‘ Hud v e oo penCraA

tho e 004 may so Labonasdd Jg)
feraaren COMJ{J/J JOQ/U /(IJ)/M/ elioinl. Ay
DLo. L. » iy sonehviwed g lifue) )
oo wdsﬁﬂlf \ A DO\ mmwww
Wf/ﬁmd M> Ut Lo Ol

4 LA

8704

Leave
blank
Gadewch
yn wag






Write the two digit question number inside

the boxes next to the first line of your answer L
Ysgrifennwch rif dau ddigid y cwestiwn yn y Answer G;’éae”vfch
blychau gyferbyn & llinell gyntaf eich ateb Ateb yn wag

JT’J\O ,\)\MW \Q%L 4@14@__ & |

AN Fhg Az

- oloe [ o by Suoly oz[)adwm
\ VU Sdeeoky BN il pauce

:L:m o puw't  FuolH aﬂ IS5 peode o
’ éwé&éaap OMOL Mj\ma/m

1 #Lw@a% o0 s Sy W-
:‘wﬁ ocoun %@% 5 |

| Rt re O s I t;twu oAoUB( 0.

_m@ qzmmmm omcu > Creotlo
Olode. o %0 ng. to-seo a

Q,J P)t QD;U/\OU{? Do @ L\(MQM@. \jﬁ( gf)@u»ﬂl( B
wawwj Sholt. U0 BE prore

Mol ool | By

5 L

8705










fite the two digit question number inside
the boxes next to the first line of your answer

th

T<XF=

Ysgrifennweh rif dau ddigid y cwestiwn yn y Answer
blychau gyferbyn & llinell gyntaf eich ateb  _ ‘ Ateb
0 \

0) g L\\\v\oumo\rdc agpoath 10 vesearch 1s good because tr enables

CAROYORLS \o %ﬁ an W deptih view ol e cmv\m bwneg . Wt meant

\\:\m con coleckr voud dokd \xcame thae omme watan e QM\M

Owe W\M\u Whely Yo be hufhtul and lwust s odio vvum

Wity fo be voud becoue the Uneruewer can buud o tappod

pata b\u _POYNOPUIALS .

(\t\ot\w veason the vesearchey mqq toke om_2two grapuic

QODYO(ldA \S becouutse kWAL 0 0tiagy bmmmu olnm Thas meoons

Wt ta uaboveaohon Cavra \Im tanaperech w.w\ 08 URS yaieovoney

Uapnnitives hove conducted b v P)ecame t\S prumany Yerearth

a speaicall J
b w have been gleveloped for the Wdu and wot fov anctwer

veason. b wAl okso be smn wore Spruskic “and detauted.

bk()’ T, oS pad obieck@es of ads vexeavda isto hnd out the vole

touC . tae Swifit of ot ot wm/oc/,a/eoot

Mm MW&/M/@/&W/{

\ ':,r.'.-'.w_e..:_sﬁ_; £ _ MWA'F Xt uc’e
m i wusw{/{dmm/.ﬁdv@\ o

Ao 2

o aud aowd/ S/
/ / / \/MM/\M/(‘MLW\M/\W(MA/ /{Zé WA, xéem'cv\
MKM{\&/MA@ r/myo/ mmm “/270&!0

m v

U
2 ]l
8702






0

Write the two digit question number inside

the boxes next fo the first line of your answer Answer i
Ysgrifennwch rif dau ddigid y cwestiwn yn y Gadewch
blychau gyferbyn & llinell gyntaf eich ateb Ateb yn wag
‘ bUY T ot omd obyectwes of faus veseareh s to (wd our the vole
Wnot fvundswip ploys w the e o people 1a my local axta, ol
QOV\\\ADOG\ \"wsk\u\ LW operohonaie the teom “Ane yole Anar
k\u\ds\uo plaws” to  “how ofen do You turm to your fwanads
fov w)mce T\Ms 1550 Aot wewjows con wndustand tha kum ‘
) Sk

w Al s Wou, WMEomng Wl o Jtm\uv YOILES 200A WAL -

\ hove Oaosew Yo use uuuum\\w data foc my

vseortn. Ths 1 becamr \ wonk Yo Qoua W 00pHh taformanon,

vy taon foos ond hguees. |l odte Qs vewd dato

g Ml watiaod . WD Chowatks chien favour s adthod o

Wvooe ware Vo W' and loows wto veasons \/\I\M:’f ﬁ'/\w@

DNl dowh roduy o hguves: May Weber favours quantatve

ava, layuag e Shouid Whave \Vxstaaon (\sgmpmxc \M\dmtuy\cx(vxg ).
Tar tathod U bl uge wadl be  unsuctuved

Wkoanws, Hais 1 becouie they ave bodee than other woteds S

) Quushowaouaes ok Gou il Juawtohve doka - Ugmg unsuct=

WeRd  UAROEWNS B0 IWONS  Hag uakvwewe con budld up o

vappot witn Yo parvepants.  Secouse e guashons wi be

unshatured, Bl weons that poewpouarr avedt velivicled Yo one

aswer owd Uy con Oapoie to soboroke, M aung, Wag  angwers

o vomd - Unshathuved evpeins W\ubx aus0 hov{ o beder

verpoare vake  Waan Jay, Queihonnawe) - Whon QUEIhGARIWRS Qve

KAk qut, \\z\n}) Oyt Oden \utt lgnoud.
oy wm mwmum fome, U i ur tag

um\to(m o0 dess hu wxmmm \ wuu fend owt Leders to mulhpe

ﬂ(&(ﬂwmqs m\umcx W l’v\m WO\Md be \mww o towe pot w an

wWRWeW.  Thpe, of W\M—Q ) vemu ) wwn Wi 0 random 10mplng

lethwgua Yo Uroor 100 oamaomm Tar veougn 4 Wl wig 100

pouhupomts s Yo tnoee0i ettt vounloud, And maue \b uhe
QUL S0 I howt oowen Yo Wie o mv\dom jondle_becaure

\% W ang {\M)MCN qm (1§ Faw hamee Ok ‘HW\Q o ten , fud naoond

By, YUt il bt L boted.  Relove Cmrmn Mg Lnkeruaws

W\W\ v 100 powvuponts | WAl do o Quck hudy . T \§ 0 Small

Seold Yhudu caved owr befar 1 dtow 8y, RANA fo ansuve

Mﬁ/j-/""v
e 1 W do Jowae  bocugound Yeaawng Mto yds PaLchowwipt et

3 | ||||||||||||||
8703





Write the two digit question number inside
the boxes next to the first line of your answer

s Leave
Ysgrifennwch rif dau ddigid y cwestiwn yn y Answer Gbéa”k
blychau gyferbyn & llinell gyntaf eich ateb Ateb HHOM

yn wa

Bt 15 w0 lswd Wt 4 Sudy 4.4 fe ouishons dodt wmaume L.
1 WY Tw dota 1 colleck Wil be nm vaud ar Hu parteipants can be
butnbul ben Seomns to the ueewawer . Thave 15 \esy Chowce o
Sooal  dewobuky ];\as becoure e wateamtwer wl aMow the poarcgont
Yo oamer B guathons how they wowd Wl |t UCTRIGU Ahe
parupaums leet waave omloviable tnd lais Wty to We.  Howevey,
Pt may B oUW o inrerwety bios. The wietwener may prod
\T\ML p(m\ udoar W & G awechar and Wduence them to omswer in
QO Curoun way.  Tarre way ba \gsiuas Wit ituabudy and vepuicaby
v Y veravon, of tae wakormanon S voud - Thp data frowded
wad b qualitahve, wmpawng (e data wi be hard fo compave 1o
Pasous Jrudag) . \IS\V\(\ V) \MQ JOWPIE I WM 2Awmaan are Qny
i with m\uu VO WMMYORT pagans
oStk Uou_ Qe re wene \wmu fo_ 0ppuy Fo Hae wadey gubic:
i wal uxso WAL QW Youy mmmus WOre uwme Recause e
QUANARYS Wikl e Jpeoukie , b WU B Ward Yo vepucore Hali tewaro -
Taere Moy ouso be Jome PraCheod LiSUeS with UAs Y0 E0XOa..
Unhrattuced W vwew?s jutn 04 e wul towe o Lo\/\%hw to comQiew
becanie you bhave to weruiw eaen posom wdwdualy, tnd witn

_ Wb UL IO \ Wi W (3 - A .
kawe 3o oy Hull alie woans W wak be cesty s compared to

a 2 Q. QUUINGARANL] - Jatia YerGrOwey | tnkruewer uill have to
‘m pouth fo Bt hwae-

Sowd phwedt iggued MY Uf0 oceur - (L seaxtinrs
wud hawe oooentuxe M\Hjmn vaud contew betene By Vo Hhe
wenwews.  Cownt foavs Cowid b handed to ovieypants o keep m
vleovd - (mhda\/\k\a\tm vmu 00 b o Lk - Powt\umvm Ceuwtd
be Quen  naers o be ured n bu fnoungi \ngead of hano!-
Nu\ms QAG ad BVl Wit be Ceqt Jnchy ¢ conhdmmx Pacpans
MUSE Mo be wiade awove o e nguk ko WtAYOw fYom tha eravgna -

L prewwt B fuadwngs i a vepos- Rt o
ait oy 00t doo and find Joamovies \n o pesder oingier; -

aad  Han Coxeloke o e fundungs wto o veott-
nis udy ngawn

V1 eve to de
L Could wm\gbe wie g than  owe wared to

4 LI
8704





Write the two digit question number inside

the boxes next to the first line of your answer Answer ’ %,?:r‘]'f
Ysgrifennwch rif dau ddigid y cwestiwn yn y Gadewch
blychau gyferbyn & llinell gyntaf eich ateb Ateb yn wag

Quiaanale ok Yar (gyues gothaned wh Bt veeontn - Fov evammpie,
L Cowld Maybe Oufo OWe particvpomts quepsnnawes to b sut 4o
o Jone guanrrahve dera. mw\mv\ LA Bnd VEDUCaDWY
w\wu be 0N LM v M) veoven |\ rouud be&mwui thar Vo
\§ vwzsm umpovione: Becouie \ want to fnd opwmons, Fruthiwnes
Voo wokant Ko vountuiy -

3 4% owe aven of W wiere et is omdence o Soaas unoqualing ke (S
quader witaun the fowny - Women ove Jad watgual te wia m Loy
Dipetk ok jouak We-  Owex tha \aik SO years Waave Was been verearta
Condutied wito houswem wibin b fowiy - & Way found taar women sty
do wayonty ot oustwour - & Sudy Yo batw up Hais pour way done

\33 legor omd geneval- Tany townd thar »n 2012 - 584—gp

_wlﬁm&\_@mt Sk _houss Pex ol On oUW OoN
_ ad dcave Yed n L 2t _hours .

W 100 - wog oso found Ywe oy bagnithold kasies vaen cayued
il bowe ) ’t §, OV an i bws oue
taat 15 oaly 3 owr oL Sy hiwlt\im QYL (ampng put - Awnctiasy
vR0U0N b\/\m L equaly imtan the oy s Nouvdw\n caldcowe -
Wowanm 0wt ofn I \N pmmawy care Quex bo Waviv Uu/tdvavx ae)pie
oW QLSO InouAny fuu b - \v\ oML mmﬁ It wau found that
WOl Jpnd sz’; o Wurd g hiug Wan man coumng fo iy
aMdven- Wn 1012 - oayy 110 2 man took Wit bwo weews
patevityLeavt, \tuum) woen Yo Cove kv Hany waw bom baoy -
foachondl dugpot W OO GUMOSH DUNTAS Brn b9 Mar fewraue -
Doy ovguis women Cion sulke B bagle twikk: Tt maans
covang foc duin Cldven, woumng it bt and Qung Lahora)
Juget to faoie poxtner ond Ou\o\vewwg\/\éve 50U wuuw veq o
1 OLbion Maling wata W EQMW' ¥ wii_found tnar vaiddle
choss wavet  daler Yo et usbands gpusion moung . \n_on (hdy,
ovon wWhan W fewmane vos Y Waoan financidr oviey, W
(LeUsions (eOUXOIY Il Qlwaat Slway, bonotured ke wam -

A ool Ui YLOOXAMG WEQAAUL) Wt thy ircw\MLE)A ¢ to do

: I

















GCE A2 (NEW)
SOCIOLOGY

SUMMER 2017 MARK SCHEME

Unit 4 - Social Inequality and Applied Methods of Sociological Enquiry

Laidler and Hunt were interested in finding out more about the relationship between gender
and gang membership in the San Francisco Bay area. They decided to adopt an
ethnographic approach for their research which was conducted over a period of 10 years.
The researchers used in depth interviews with a mix of 141 male and female gang members.
The data collected revealed that gang membership involves clearly defined roles which are
linked to gender expectations. The gang is used as a means of social control with strategies
employed to ensure conformity. The researchers found that expectations of the girls in the
gang were much the same as those for girls who do not belong to gangs.

Source: Laidler, K.J. and Hunt,G.“Accomplishing femininity among the girls in the
gang”,2001 British Journal of Criminology.

1. () Identify and explain two reasons why the researchers decide to adopt an
ethnographic approach in their research. [10]

There should be two reasons for AO1 band 3. These reasons can be theoretical,
practical or methodological and must contain technical language. For AO2 band 3
the reasons must be contextualised and explained with reference to methodological
issues.

Indicative content

The answer should be contextualised.

e This approach is designed to gather detailed information which was required in
this research.

e Because it was done over a long period it would encourage people to feel
comfortable and behave naturally producing valid data.

e ltis a potentially sensitive topic so it was important to ensure that people felt
relaxed and not intimidated to increase validity. So fitting in and being part of the
group should have done this.

o People are not constrained by questions so they can speak and behave freely;
thus increasing validity.





Band AO1 AO2
elements 1la & 1b element la

3 4 marks 5-6 marks
Answers demonstrate detailed Answers demonstrate a detailed ability to
knowledge and understanding of select, apply and interpret appropriate
sociological theories/concepts/evidence | sociological theories/concepts/evidence
relating to the context of the in the context of the debate/question.
debate/question.

2 2-3 marks 3-4 marks
Answers demonstrate some knowledge Answers demonstrate some ability to
and understanding of sociological select, apply and interpret appropriate
theories/concepts/ evidence sociological theories/ concepts/evidence
relating to the context of the in the context of the debate/question.
debate/question

1 1 mark 1-2 marks

Answers demonstrate basic knowledge
and understanding of sociological
theories/concepts/evidence relating to
the context of the debate/question.

Answers demonstrate a basic ability to
select, apply and interpret appropriate
sociological theories/concepts/evidence
in the context of the debate/question.

0 marks
NRSP

0 marks
NRSP






(b)

As an A level student, you have been asked to design a research project to
collect data on the role that friendship plays in a sample of people in your
area.

0] Describe each stage of your research design, justifying the reasons
for your choice at each stage.

(i) Discuss problems that may occur and the impact of these problems on
the quality of the data collected. [30]

Answers should demonstrate the ability to make sense of sociological
debates, offer sociological examples and explain sociological concepts.
Answers need to use key terminology. Credit will be given to effective
discussion where there is evidence of detailed and wide ranging knowledge.
Where answers demonstrate all abilities to the highest standard, then they will
be consistent with Band 4. However, answers demonstrating knowledge but
fewer skills of interpretation and discussion may achieve Band 4 for AO1 but
lower bands for AO2 and AO3.

The research design should be ethical, achievable and appropriate to the
theme of the proposed study. Candidates should make their choices, justify
their research approach and design in the context of the problem. Potential
problems must also be identified.

Indicative content
Expect to see the following stages addressed in the proposed design:
e Operationalisation of key terms
e Sampling
- population
- sampling technique
- access
e Research method
Ethical issues
e Practical considerations.

Expect to see the research design justified and potential problems identified
in relation to key methodological concepts and other relevant issues such as:
Ethics

Validity

Reliability

Practical considerations

Generalisability

Representativeness

Operationalisation.





Band AO1 AO2 AO3
element 1la & 1b element la strands 1-3
9-10 marks 9 -10 marks 9-10 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and accurate and relevant detailed, well organised and
understanding of sociological | selection of appropriate logical arguments. Logical
4 theories/ concepts/ evidence | sociological theories/ judgements and
relating to the context of the concepts/ evidence. These | conclusions will be offered
debate/question. are applied and interpreted | based on explicit evaluation
in the context of the of the relevant theories/
debate/question. concepts/ evidence
examined.
6-8 marks 6-8 marks 6-8 marks
Answers demonstrate some Answers demonstrate some | Answers demonstrate
knowledge and accurate and relevant some, well organised and
understanding of sociological | selection of appropriate logical arguments.
3 theories/ concepts/ evidence | sociological theories/ Judgements and
relating to the context of the concepts/ evidence. Some | conclusions offered will
debate/question. of which are applied and show some evaluation of
interpreted in the context of | the relevant theories/
the debate/question. concepts/ evidence
examined.
3-5 marks 3-5 marks 3-5 marks
Answers demonstrate basic Answers demonstrate a Answers demonstrate basic
knowledge and basic ability to select, apply | arguments. Judgements
understanding of sociological | and interpret appropriate and conclusions offered will
2 theories/ concepts/ evidence | sociological theories/ show basic evaluation of
relating to the context of the concepts/ evidence in the the theories/ concepts/
debate/question. context of the evidence examined.
debate/question.
1-2 marks 1-2 marks 1- 2 marks
Answers demonstrate limited | Answers demonstrate Answers demonstrate
knowledge and limited ability to select limited argument. Any
understanding of sociological | and/or interpret and/ or judgements and
1 theories/ concepts/ evidence | apply sociological theories/ | conclusions offered will

relating to the context of the

concepts/ evidence in the

show limited evaluation of

debate/question. context of the any theories/ concepts/
debate/question. evidence examined.

0 marks 0 marks 0 marks

NRSP NRSP NRSP
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Sticky Note

Only one reason with a vague explanation.
Confusion over the meaning of ethnographic
1+2
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Sticky Note

This is a large number for a qualitative interview



Sticky Note

Not with only 150 interviewees
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Sticky Note

Some context
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Sticky Note

Little if any reference to sampling
A vague and somewhat confused design with only passing reference to problems and impact.
Basic
5+5+5
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Sticky Note

2 reasons offered. One is explained quite well. Context lacking
3+4
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Sticky Note

Candidates often assume that qualitative data will inevitably generate more valid data; this is not necessarily the case



Sticky Note

confused
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the boxes next to the first line of your answer
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Sticky Note

what questions?
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Sticky Note

The candidate demonstrates some knowledge but this knowledge is also mixed with confusion and misunderstanding.
Most stages of the design are addressed and some of the potential problems considered.
8+7+8
















Compulsory question

Gender and gangs

Laidler and Hunt were interested in finding out more about the relationship between gender and
gang membership in the San Francisco Bay area. They decided to adopt an ethnographic approach
for their research which was conducted over a period of 10 years. The researchers used in-depth
interviews with a mix of 141 male and female gang members. The data collected revealed that gang
membership involves clearly defined roles which are linked to gender expectations. The gang is used
as a means of social control with strategies employed to ensure conformity. The researchers found
that expectations of the girls in the gang were much the same as those for girls who do not belong
to gangs.

Source: Laidler, K.J. and Hunt,G.“Accomplishing femininity among the girls in the gang”, 2001 British Journal of
Criminology.

1. (@) Identify and explain two reasons why the researchers decided to adopt an ethnographic
approach for their research. [10]

(b) As an A Level Sociology student, you have been asked to design a research project to
collect data on the role that friendship plays in the lives of a sample of people in your area:

(i) describe each stage of your research design, justifying the reasons for your choice
at each stage.

(i) discuss problems that may occur and the impact of these problems on the quality
of the data collected.
[30]
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Social Inequality

2. (@)

Identify two areas of life in contemporary society where there is evidence of
class inequality. lllustrate your answer with reference to evidence for each
area identified. [20]

Answers should identify two areas. For both areas answers should use
appropriate evidence; official statistics and sociological research. The AO2
marks are for selection and explanation of appropriate evidence. For band 4
AOL1 there should be more than one piece of evidence cited for each area
identified.

Evidence will link to two areas and can cite the same dimension of inequality
in each or different dimensions.

Indicative content
Education
o Differential attainment, Youth Cohort Study, DfES statistics showing
differences linked to social class.
- Forsyth and Furlong
- Callendar and Jackson
- Gilchrist Phillips and Ross
- Ball
- Sullivan
- Reah

Crime
e Patterns of offending, official police statistics, Crime Survey England and
Wales and prison population linked to social class.
- Glueck and Glueck
- Walmsley
- Maguire
- Hughes and Langan
- Croall

Health
e Health inequalities and social class, patterns of morbidity and mortality,
Black Report, Acheson Report.
- CIPR research
- General Household Survey
- Sahw etal
- Wilkinson

Other areas could also be used such as work, the family, media if relevant





Band AO1 AO2
elements la & 1b element la

4 9-10 marks 9-10marks
Answers demonstrate detailed Answers demonstrate a detailed ability to
knowledge and understanding of select, apply and interpret appropriate
sociological theories/ concepts/ evidence | sociological theories/ concepts/ evidence in the
relating to the context of the context of the debate/question.
debate/question.

3 6-8 marks 6-8 marks
Answers demonstrate some knowledge Answers demonstrate some ability to select,
and understanding of sociological apply and interpret appropriate sociological
theories/ concepts/ evidence relating to theories/ concepts/ evidence in the context of
the context of the debate/question. the debate/question.

2 3-5 marks 3- 5 marks
Answers demonstrate basic knowledge Answers demonstrate a basic ability to select,
and understanding of sociological apply and interpret appropriate sociological
theories/ concepts/evidence relating to theories/ concepts/ evidence in the context of
the context of the debate/question. the debate/question.

1 1-2 marks 1- 2 marks

Answers demonstrate limited knowledge
and understanding of sociological
theories/ concepts/ evidence relating to
the context of the debate/question.

Answers demonstrate limited ability to select
and/or interpret and/ or apply sociological
theories/ concepts/ evidence in the context of
the debate/question.

0 marks
NRSP

0 marks
NRSP






(b) Evaluate the view that social inequality is functional for both individuals and
society [40]

Answers will make judgements of sociological concepts, theory, controversy
or sociological debate. The answer will focus on the debate in the question.
Credit will be given to the effective use of supporting sociological
evidence/theories and concepts. Where answers demonstrate all abilities to
the highest standard then they will be consistent with Band 4. However,
answers demonstrating knowledge but fewer skills of assessment, judgement
and evaluation may achieve Band 4 for AO1 but lower bands for AO2 and
AO3.

Indicative content

o Expect reference to functionalists such as; Parsons, Durkheim, Davis and
Moore.

e Expect reference to ideas such as the notion of effective role allocation
and meritocracy; the inevitability and functionality of stratification and
social inequality.

e New Right ideas as a defence of functionalism; Saunders.

o Consideration of the growing gap between rich and poor.

¢ Recent industrial action by junior doctors and what this might suggest
about the functionality of social inequality.

e Marxist criticisms of functionalism such as the notion of lack of
meritocracy with appropriate evidence and examples such as Bourdieu
and Sullivan, Althusser but that this is functional for capitalist society.

¢ Functionalist ideas about the functionality of gender roles which are
functional for society but not for individuals.

o Feminist ideas relating to particular inequalities experienced by females
such as the pay gap vertical and horizontal segregation of jobs
Reference may be made to recent political, social or public debate.

e |deas should be compared and evaluated with reference to supporting
evidence with an emphasis on the usefulness of functionalism.





Band AO1 AO2 AO3
element 1la & 1b element l1a strands 1-3
9-11 marks 9-11 marks 15-18 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and accurate and relevant detailed, well organised and
understanding of sociological | selection of appropriate logical arguments. Logical
4 theories/ concepts/ evidence | sociological theories/ judgements and
relating to the context of the concepts/ evidence. These | conclusions will be offered
debate/question. are applied and interpreted | based on explicit evaluation
in the context of the of the relevant theories/
debate/question. concepts/ evidence
examined.
6-8 marks 6-8 marks 10-14 marks
Answers demonstrate some Answers demonstrate some | Answers demonstrate
knowledge and accurate and relevant some, well organised and
understanding of sociological | selection of appropriate logical arguments.
theories/ concepts/ evidence | sociological theories/ Judgements and
3 : ) . .
relating to the context of the concepts/ evidence. Some | conclusions offered will
debate/question. of which are applied and show some evaluation of
interpreted in the context of | the relevant theories/
the debate/question. concepts/ evidence
examined.
3-5 marks 3-5 marks 5-9 marks
Answers demonstrate basic Answers demonstrate a Answers demonstrate basic
knowledge and basic ability to select, apply | arguments. Judgements
understanding of sociological | and interpret appropriate and conclusions offered will
2 theories/ concepts/ evidence | sociological theories/ show basic evaluation of
relating to the context of the concepts/ evidence in the the theories/ concepts/
debate/question. context of the evidence examined.
debate/question.
1-2 marks 1-2 marks 1-4 marks
Answers demonstrate limited | Answers demonstrate Answers demonstrate
knowledge and limited ability to select limited argument. Any
understanding of sociological | and/or interpret and/ or judgements and
1 theories/ concepts/ evidence | apply sociological theories/ | conclusions offered will

relating to the context of the

concepts/ evidence in the

show limited evaluation of

debate/question. context of the any theories/ concepts/
debate/question. evidence examined.

0 marks 0 marks 0 marks

NRSP NRSP NRSP











Write the two digit question number inside

the boxes next to the first line of your answer

Ysgrifennwch rif dau ddigid y cwestiwn yn y Answer
blychau gyferbyn & llinell gyntaf eich ateb Ateb

A 2

2 QA

Leave
blank

Gadewch

yn wag

} An. Ouee o;ﬂwcz (A(Dnl@upmu )

{doeety whore thue. \p enolende owﬁ OLOAS

m&mﬂu)tu W Lolutohon.
J/H\rprau@ T Gov ik 35 aﬁ wom

gscEd  Mefobfidesze
malcUl ClowuS Shuploa

YOe S geses A0 LC, s Ulushats the

CAOS dm{lﬂ U ISR hOA » MLt ol SOl

Lhot ool thot the MDY o) woerkdi

CLONS muétw&w @\Aj;uj?o \mkr@e)&& /U\EL_

Cloge. @ﬂmm Cmof e re pujruij £ho

ales &0;(3’ Tam W&ﬂmtd

& Pyl haol o D(Hﬁnl L el AanuoJe

(O)o0ux hon_ Ah u)muDL Mot koY jop
Ao Wit oL ket Sl il o

o@ CLOCISY uhouudl dae @@wum o gy Sol

v 0, 0uclLOAS Sohos Q)DJ'JLDJ A goocl &o 00 @Q

R0 ol glans uwmmum LA_ e hon,

W the . U+ e Ut Wwoes 0 Mok suut. 1t

QUL Qhout regastllds o) Clops had Ahe. Sane

Cppothumty To athuee . BSut hot SIUL hodoe
QoSS 10D, ~Tho quoshoud QA —He. Ut e

S8 Quvo Ol O NLAALO. CLOBS Cuthuwie, So U

Lo00 iy ULiko m\mm\a CLOSS CRuLOL

oot Mi%‘mofm by oo > muwwaf\ot

Lgue U, found Thom Sbues Yamao % SO0

ot Acihecly e bhet)
o o0 Qrupol  anol o fiyiuet 1‘75 tholt

1ile Wty coal s mw/wuw@
JCJMYI/ The U won eoud 000 @aser
MO LE hovdl | Gt Lo

LRAS (2010 Swouwt O -thout

7 L
8707




Sticky Note

Some relevant examples and passing references to evidence
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Sticky Note

Some examples and brief references to evidence in both areas examined. But evidence was not developed or used as a vehicle to demonstrate higher order AO2 skills.
6+6
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Sticky Note

An accurate but largely descriptive account of the functionalist view of social inequality.
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Sticky Note

A one sided essay which concentrates almost entirely on the functionalist and New Right views. The task was to debate the view not describe it
7+6+10






















2.

@

(b)

Identify two areas of life in contemporary society where there is evidence of class
inequality. lllustrate your answer with reference to supporting evidence for each area

identified. [20]

Evaluate the view that social inequality is functional for both individuals and society. [40]
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(@)

Identify two areas of life in contemporary society where there is evidence of
social inequality. lllustrate your answer with reference to evidence for each
area identified. [20]

Answers should identify two areas. For both areas answers should use
appropriate evidence; official statistics and sociological research. The AO2
marks are for selection and explanation of appropriate evidence. For band 4
AOL1 there should be more than one piece of evidence cited for each area
identified.

Indicative content
Education

Differential attainment, Youth Cohort Study, DfES statistics showing
differences linked to social class.

Underachievement of boys, ‘failing boys’, Mitsos and Browne, Connolly
Exclusion rates linked to ethnicity.

Financing difference between England and Wales.

Crime

Patterns of offending, official police statistics, Crime Survey England and
Wales and prison population linked to social class.

Lower representation of females in official crime statistics.
Over-representation of some ethnic minority groups in the criminal justice
system Bowling and Phillips, Hood.

Over representation of youth in criminal statistics.

Health

Health inequalities and social class, patterns of morbidity and mortality,
Black Report, Acheson Report.

Economic and social position of women leading to higher sickness rates
Graham, Popay and Bartley.

Social isolation and fear of racism amongst some Asian women leading to
ill health Nettleton.

Poverty and health inequality in Wales

Other areas could also be used such as work, the family, media.





Band AO1 AO2
elements la & 1b element la

4 9-10 marks 9-10marks
Answers demonstrate detailed Answers demonstrate a detailed ability to
knowledge and understanding of select, apply and interpret appropriate
sociological theories/ concepts/ evidence | sociological theories/ concepts/ evidence in the
relating to the context of the context of the debate/question.
debate/question.

3 6-8 marks 6-8 marks
Answers demonstrate some knowledge Answers demonstrate some ability to select,
and understanding of sociological apply and interpret appropriate sociological
theories/ concepts/ evidence relating to theories/ concepts/ evidence in the context of
the context of the debate/question. the debate/question.

2 3-5 marks 3- 5 marks
Answers demonstrate basic knowledge Answers demonstrate a basic ability to select,
and understanding of sociological apply and interpret appropriate sociological
theories/ concepts/evidence relating to theories/ concepts/ evidence in the context of
the context of the debate/question. the debate/question.

1 1-2 marks 1- 2 marks

Answers demonstrate limited knowledge
and understanding of sociological
theories/ concepts/ evidence relating to
the context of the debate/question.

Answers demonstrate limited ability to select
and/or interpret and/ or apply sociological
theories/ concepts/ evidence in the context of
the debate/question.

0 marks
NRSP

0 marks
NRSP
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(b)

Evaluate the usefulness of Weberian explanations of social inequality. [40]

Answers will make judgements of sociological concepts, theory, controversy
or sociological debate. The answer will focus on the debate in the question.
Credit will be given to the effective use of supporting sociological
evidence/theories and concepts. Where answers demonstrate all abilities to
the highest standard then they will be consistent with Band 4. However,
answers demonstrating knowledge but fewer skills of assessment, judgement
and evaluation may achieve Band 4 for AO1 but lower bands for AO2 and
AO3.

Indicative content

e There should be a sound and accurate understanding of Weberian theory
and its focus on class, status and party as the significant variables
explaining social inequality.

o Class and its significance; market situation four classes; privileged, petty
bourgeoisie, white collar workers, manual workers.

e Status; different dimensions of inequality such as gender, age, ethnicity
and discussion of how useful this is to our understanding of social
inequality.

o Party; access to decision making power with examples of pressure or
interest groups.

e Supporters of the view; Bottero, Giddens.

e The non- reductionist features of the theory.

o Criticisms that Weber’s ideas “water down” and detract from focusing on

the real sources of social inequality such as Feminists who argue that

gender is the most important variable in explaining social inequality

Criticism from postmodernists; Waters.

Marxist ideas and the significance of class.

Reference may be made to recent political, social or public debate.

Ideas should be compared and evaluated with reference to supporting

evidence.
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Band AO1 AO2 AO3
element 1la & 1b element l1a strands 1-3
9-11 marks 9-11 marks 15-18 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and accurate and relevant detailed, well organised and
understanding of sociological | selection of appropriate logical arguments. Logical
4 theories/ concepts/ evidence | sociological theories/ judgements and
relating to the context of the concepts/ evidence. These | conclusions will be offered
debate/question. are applied and interpreted | based on explicit evaluation
in the context of the of the relevant theories/
debate/question. concepts/ evidence
examined.
6-8 marks 6-8 marks 10-14 marks
Answers demonstrate some Answers demonstrate some | Answers demonstrate
knowledge and accurate and relevant some, well organised and
understanding of sociological | selection of appropriate logical arguments.
theories/ concepts/ evidence | sociological theories/ Judgements and
3 : ) . .
relating to the context of the concepts/ evidence. Some | conclusions offered will
debate/question. of which are applied and show some evaluation of
interpreted in the context of | the relevant theories/
the debate/question. concepts/ evidence
examined.
3-5 marks 3-5 marks 5-9 marks
Answers demonstrate basic Answers demonstrate a Answers demonstrate basic
knowledge and basic ability to select, apply | arguments. Judgements
understanding of sociological | and interpret appropriate and conclusions offered will
2 theories/ concepts/ evidence | sociological theories/ show basic evaluation of
relating to the context of the concepts/ evidence in the the theories/ concepts/
debate/question. context of the evidence examined.
debate/question.
1-2 marks 1-2 marks 1-4 marks
Answers demonstrate limited | Answers demonstrate Answers demonstrate
knowledge and limited ability to select limited argument. Any
understanding of sociological | and/or interpret and/ or judgements and
1 theories/ concepts/ evidence | apply sociological theories/ | conclusions offered will

relating to the context of the

concepts/ evidence in the

show limited evaluation of

debate/question. context of the any theories/ concepts/
debate/question. evidence examined.

0 marks 0 marks 0 marks

NRSP NRSP NRSP
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Sticky Note

2 areas appropriate evidence to show the inequality in question. An excellent answer
10+10
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Sticky Note

Basic in all respects
Weber's key ideas not considered in detail. Some understanding is evident.
6+4+6






















(a) Identify two areas of life in contemporary society where there is evidence of social
inequality. lllustrate your answer with reference to supporting evidence for each area
identified. [20]

(b) Evaluate the usefulness of Weberian explanations of social inequality. [40]







